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−u′′ + π2u = 2π2 sin(πt), 0 ≤ t ≤ 1, u(0) = u(1) = 0.
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$ gnuplot

> set title ’Ovoma kai arithmos mntrwou’

> plot ’chol.dat’ with linespoints, ’sor.dat’ with linespoints

> replot sin(pi*x)

> set term post

> set output ’rslt.ps’

> replot

> quit«i�$z��1� 2 t 254�+ w"©�t�� 4
rslt.ps

/
')¬¤z74 w"t5� 2 t �$+³- t5� 2 t 2�4�+ w"©�t5� 4�+	�$2 | �,z w 4$2�4�x�254 t *�2"�$z��1� t 2 t ��y t 2 � � t ��254 ~	�

gv rslt.ps
/­>

¾
¿E¸i½i¸gÀg�rÁ

•
s +³z w 03z t5� ��+ª-"47� ~ 0 µ�t 2 t � 2 � 6 � - �¶t 6�4�y � - t 6 | z u 6g2 � 6g� (g��* � � � 6³�./

•
� tv· 0325+	� � 2 � 6 � �H* � � � 6g¢£+ª¦ � � t5� 2 � � t¥} -"47y � -"+®��Â	Ã,�"Ã.8$:.:7=�<���Ä�Ã7�"Ã�8.:$:�=
� t � w +ªz74��³¢�+{+��$+$*,4 � � u ¢ t�� + w ¦ | º
2 t5w +H/

• Å +$2 � 2 � - �­�.w * t5� +�2 � 6 tv· 0325+	� � 6
¢£+ªz w 03z t5� �$+{0 ©�t 2 t y	+ ²�� ��+.6d2��.z u y�0¥�$4{254b� ©�� y	+H/

8


